

Purchase & Store Section, Liaquat University of Medical & Health Sciences, Jamshoro

Tender opened: 16-03-2023

SPPRA NIT ID# T01904-21-0018 NIT: LUMHS/PSS/-42 Dated: 27-02-2023

Financial Comparative Statement of Procurement of Instruments & Dental Material for faculty of Dentistry for Undergraduate & Postgraduate Training, Institute of Dentistry, LUMHSJamshoro

Sr. No.	Description of required Items	QTY	M/s Technology Li Karachi	nks	M/s Mega Tronic T Hyderabad	raders	M/s Fabnos Traders PVT LTD Karachi		Remarks	
			Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.		
1	Alginate Sodium	39 PKT	1,460 per each Alginate Sodium china	56,940	1,450 per ach Alginate Sodium 456 gram China	56,550	1,350 per each Alginate Sodium china454 grams	52,650	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest	
2	Articulating paper (Double sided)	10 PKT	1,200 per each Articulating paper (Double sided) China	12,000	900 per each Articulating paper (Double sided) pack of 1x144 pcs Shofo	9,000	950 per each Articulating paper (Double sided) China pack of 12 books	9,500	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest	
3	Bond brush	30 PKT	700 per each Bond brush China	21,000	650 per each Bond brush China	19,500	425 per each Bond brush China pack of 100	12,750	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest	
4	Resin Bond (5 th Generation)	20 PKT	3,700 per each Resin Bond (5 th Generation) Brazil	74,000	3,250 per each Resin Bond (5 th Generation) turkey	65,000	3,000 per each Resin Bond (5 th Generation)5 ml Brazil	60,000	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest	
5	BURS TF-11	30 PKT	420 per each BURS TF-11 China	12,600	73 per each BURS TF-11pack of 1x1 China	2,190	350 per each BURS TF-11 pack of 5 China	10,500	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest	

Central Purchase Committee

Dur Muhammad Mirjat

Incharge, Purchase & Store Section, LUMHS, Jamshoro (Secretary)

Director Finance/Nominee LUMHS, Jamshoro (Member)

Abdul Raheem Shaikh

Director, IT (Services)

LUMHS, Jamshoro (Member)

Prof. Feroz Ali Kalhorò

Dean Faculty of Dentistry

LUMHS, Jamshoro (Co. Opt. Member)

Tariq Ahmed Shaikh

Deputy Director, Biomedical Engineering, Department, DUHS Karachi (Ext. Member)

Haroon Ahmed Kalhoro

Bursar,

Sr. No.	Description of required Items	QTY	M/s Technology Karachi	Lipks	M/s Mega Tronic Trad Hyderabad	lers	M/s Fabnos Trade LTD Karachi	rs PVT	Remarks
			Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	
6 8	BURS TF-12	30 PKT	420 per each BURS TF-12 China	12,600	73 per each BURS TF-12 pack of Jx1 China	2,190	350 per each BURS TF-12 pack of 5 China	10,500	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
7	BURS TF-13	30 PKT	420 per each BURS TF-13 China	12,600	73 per each BURS TF-13pack of 1x1 China	2,190	350 per each BURS TF-13 pack of 5 China	10,500	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
8	BURS TF-14	30 PKT	420 per each BURS TF-14 China	12,600	73 per each BURS TF-14 pack of 1x1 China	2,190	350 per each BURS TF-14 pack f 5 China	10,500	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
9	BURS TR-11	30 PKT	420 per each BURS TR-11 China	12,600	73 per each BURS TR-11 pack of 1x1 China	2,190	350 per each BURS TR-11 pack of 5 China	10,500	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
10	BURS TR-12	30 PKT	420 per each BURS TR-12 China	12,600	73 per each BURS TR-12pack of 1x1 China	2,190	350 per each BURS TR-12 pack of 5 China	10,500	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
11	BURS TR-13	30 PKT	420 per each BURS TR-13 China	12,600	73 per each BURS TR-13 pack of 1x1 China	2,190	350 per each BURS TR-13Pack of 5 China	10,500	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
12	BURS TR-14	30 PKT	420 per each BURS TR-14 China	12,600	73 per each BURS TR-14 pack of 1x1 China	2,190	350 per each BURS TR-14 pack of 5 China	10,500	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
13	Resin Composite different shades A2, B2, A1, B1,sweies tech (12 tubeeach shade)	40 tube 10/per shade	2,200 per each Resin Composite different shades A2, B2, A1, B1,sweies tech (12 tubeeach shade) Brazil	88,000	2,800 per each Resin Composite different shades A2, B2, A1, B1,sweies tech (12 tubeeach shade) turkey 4 gram syringe Brazil	112,000	1,850 per each Resin Composite different shades A2, B2, A1, B1,sweies tech (12 tubecach shade) syringe of 4 gram Brazil	74,000	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest

Dur Muhammad Mirjat

Incharge, Purchase & Store Section, LUMHS, Jamshoro (Secretary)

Director Finance/Nominee LUMHS, Jamshoro (Member)

Abdul Raheem Shaikh Director, IT (Services) LUMHS, Jamshoro (Member)

Prof. Feroz Ali Kalhoro
Dean Faculty of Dentistry
LUMHS, Jamshoro (Cg. Opt. Member)

Tariq Ahmed Shaikh

Deputy Director, Biomedical Engineering, Department, DUHS Karachi (Ext. Member)

Haroon Ahmed Kalhoro

Bursar,

Sr., No.	Description of required Items	QTY	M/s Technology Links	s Karachi	M/s Mega Tron Traders Hyder		M/s Fabnos Tra PVT LTD Kara		Remarks
		2 "	Rate Rs.	Amount Rs.	Rate Rs.	Amoun t Rs.	Rate Rs.	Amount Rs.	
14	Dycal/ calcium hydroxide Paste (Brazil, Italy, Japan, Koria)	4 PKT	3,500 per each Dycal/ calcium hydroxide Paste Brazil,	14,000	6,500 per each Dycal/ celcium hydroxide Paste pack of 1x24gm USA	26,000	2,850 per each Dycal/ calcium hydroxide Paste syringe of 2 gram Brazil,	11,400	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
15	G Point Rotri (F1)	25 PKT	1,200 per each G Point Rotri (F1) China	30,000	1,450 per each G Point Rotri (F1) Korea	36,250	2,000 per each G Point Rotri (F1) China	50,000	M/s Technology Links Karachi is Qualified for purchase order being 1st lowest
16	G. Point Rotri (F2)	25 PKT	1,200 per each G. Point Rotri (F2) China	30,000	1,450 per each G. Point Rotri (F2) Korea	36,250	2,000 per each G. Point Rotri (F2) China	50,000	M/s Technology Links Karachi is Qualified for purchase order being 1st lowest
17	G Point Rotri (F3)	25 PKT	1,200 per each G Point Rotri (F3) China	30,000	1,450 per each G Point Rotri (F3) Korea	36,250	2,000 per each G Point Rotri (F3) China	50,000	M/s Technology Links Karachi is Qualified for purchase order being 1st lowest
18	G G Bars	10 PKT	Rejected		1,300 per each G G Bars Japan	13,000	Rejected		M/s Mega Tronic Traders Hyderabad has Qualified for purchase order being best evaluated
19	Glass Ionomer Lutting (Japan, Koria, Brazil)	10 PKT	6,400 per each Glass Ionomer Lutting Brazil	64,000	Rejected 5,000 per each Glass Ionomer Lutting 15gram +10ml Brazil		50,000	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest	
20	Glass Ionomer Restoration (Japan, Koria, Brazil)	15 PKT	6,400 per each Glass Ionomer Restoration Brazil	96,000	3,500 per each Glass Ionomer Restoration Germany	52,500	5,000 per each Glass Ionomer Restoration 10g+8ml Brazil	75,000	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest

The Rates of Single firm Quoted Items Central Purchase Committee have been Verified Market and enclosed the Market Survey Report /Quotations under the Provision of SPPRA Rule-48.

Central Purchase Committee

Dur Muhammad Mirjat

Incharge, Purchase & Store Section, LUMHS, Jamshoro (Secretary)

Director Finance/Nominee LUMHS, Jamshoro (Member)

Abdul Raheem Shaikh

Director, IT (Services) LUMHS, Jamshoro (Member)

Prof. Feroz Ali Kalhoro

Dean Faculty of Dentistry

LUMHS, Jamshoro (Co. Opt. Member)

Tariq Ahmed Shaikh

Deputy Director, Biomedical Engineering, Department, DUHS Karachi (Ext. Member)

Haroon Ahmed Kalhoro

Bursar,

Sr. No.	Description of required Items	***	M/s Technology Links Karachi		M/s Mega Tro Hyderabad	M/s Mega Tronic Traders Hyderabad		ders_ chi	Remarks
			Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	Rate Rs.	Amou nt Rs.	3 V.
21	Hard dental Plaster	48 PKT	500 per each Hard dental Plaster Turkey	24,000	600 per each Hardsdental Plaster China	28,800	395 per each Hard dental Plaster 1kg Turkey	18,960	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
22	Hydrpogen peroxide 450ml (Local)	50 bottle	560 per each Hydrpogen peroxide 450ml (Local)	28,000	400 per each Hydrpogen peroxide 450ml (Local)	20,000	Not Quoted		M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
23	Echant gel	45 PKT 15/ each	1,120 per each Echant gel Turkey	50,400	700 per each Echant gel Turkey	31,500	1,800 per each Echant gel 3gram Brazil	81,000	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
24	K. File(10)	30 PKT	600 per each K. File(10) China	18,000	500 per each K. File(10) China	15,000	350 per each K. File(10) China	10,500	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
25	K File (6)	20 PKT	600 per each K File (6) China	12,000	500 per each K File (6) China	10,000	350 per each K File (6) China	7,000	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
26	K File (8)	20 PKT	600 per each K File (8) China	12,000	500 per each K File (8) China	10,000	350 per each K File (8) China	7,000	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
27	Retreatment File (China, Japan)	10 File	Not Quoted		9,000 per each Retreatment File China	90,000	Not quoted		M/S Mega Tronic Traders has single firm has quoted & Qualified for purchase order being best evaluated
28	Xylocane 2% Cotrage	45 Box	7000 per ach Xylocane 2% Cotrage local	315,000	4,800 per each Xylocane 2% Cotrage Iran I	216,000	Not quoted		M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest

The Rates of Single firm Quoted Items Central Purchase Committee have been Verified Market and enclosed the Market Survey Report /Quotations under the Provision of SPPRA Rule-48. Central

Purchase Committee

Dur Muhammad Mirjat Incharge, Purchase & Store Section,

LUMHS, Jamshoro (Secretary)

Director Finance/Nominee LUMHS, Jamshoro (Member)

Abdul Raheem Shaikh

Director, IT (Services) LUMHS, Jamshore (Member)

Prof. Feroz Ali Kalhoro
Dean Faculty of Dentistry

LUMHS, Jamshoro (Co. Opt. Member)

Tariq Ahmed Shaikh

Deputy Director, Biomedical Engineering, Department, DUHS Karachi (Ext. Member)

Haroon Ahmed Kalhoro

Bursar,

Sr. No.	Description of required Items	**G\$2	M/s Technology L	inks Karachi	M/s Mega Troi Traders Hyder		M/s Fabnos Traders PYT LTD Karachi		Remarks
			Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	
29	K File (15)	20 PKT	570 per each K File (15) China	11,400	500 per each K File (15) China	10,000	350 per each K File (15) China	7,000	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
30	K-File (20)	20 PKT	570 per each K-File (20) China	11,400	500 per each K-File (20) China	10,000	350 per each K-File (20) China	7,000	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
31	MTA	3 BOX	19,000 per each MTA PD Swiss	57,000	10,000 per each MTA PD Swiss	30,000	16,000 per each MTA 4x140mg+3ml PD Swiss	48,000	M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
32	Needle block	20 Box	1,400 per each Needle block China	28,000	1,550 per each Needle block Japan	31,000	1,050 per each Needle block China	21,000	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
33	Needle LA	20 Box	1,400 per each Needle LA China	28,000	1,550 per each Needle LA Japan	31,000	1,050 per each Needle LA China	21,000	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
34	Paper Point Rotri (F1)	40 PKT	1,250 per each Paper Point Rotri (F1) China	50,000	1,450 per each Paper Point Rotri (F1) Korea	58,000	2,000 per each Paper Point Rotri (F1) China	80,000	M/s Technology Links Karachi is Qualified for purchase order being 1st lowest
35	Paper Point Rotri (F2)	40 PKT	1,250 per each Paper Point Rotri (F2) China	50,000	1,450 per each Paper Point Rotri (F2) Korea	58,000	2,000 per each Paper Point Rotri (F2) China	80,000	M/s Technology Links Karachi is Qualified for purchase order being 1st lowest

Dur Muhammad Mirjat

Incharge, Purchase & Store Section, LUMHS, Jamshoro (secretary)

Director Finance/Nominee

LUMHS, Jamshoro (Member)

Abdul Raheem Shaikh Director, IT (Services) LUMHS, Janishoro (Member)

Prof. Feroz Ali Kalhoro

Dean Faculty of Dentistry LUMHS, Jamshoro (Co. Opt. Member)

Tariq Ahmed Shaikh

y asia

Deputy Director, Biomedical Engineering, Department, DUHS Karachi (Ext. Member)

Haroon Ahmed Kalhoro

Bursar,

Sr. No.	Description of required Items	-4-	M/s Technology Links	s Karachi	M/s Mega Tronic Hyderabad	Traders	M/s Fabnos Ti PVT LTD Kai		Remarks	
			Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	Rate Rs.	Amoun t Rs.		
36	Paper Point Rotri (F3)	40 PKT	1,250 per each Paper Point Rotri (F3) China	50,000	1,450 per each Paper Point Rotri (F3) Korea	58,000	2,000 per each Paper Point Rotri (F3) China	80,000	M/s Technology Links Karachi is Qualified for purchase order being 1st lowest	
37	Polythine Gloves	200 PKT	140 per each Polythine Gloves China	28,000	100 per each Polythine Gloves China	20,000	Not Quoted		M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest	
38	Polishing Materials (Prophy Paste)	3 jar 350 gam per each	5,600 per each Polishing Materials (Prophy Paste) Russia	16,800	2,200 per each Polishing Materials 100gm (Prophy Paste) USA	6,600	3,500 per each Polishing Materials (Prophy Paste) 340 gram USA	10,500	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest	
39	Rotary Files (21mm) (Three file system) m -Pro (China, Japan)	30 PKT	3,600 per each Rotary Files (21mm) (Three file system) m -Pro China	108,000	3,750 per each Rotary Files (21mm) (Three file system) m -Pro China	112,500	Not Quoted		M/s Technology Links Karachi is Qualified for purchase order being 1st lowest	
40	Rotary Files (25mm) (Three File System m- pro (China, Japan)	30 PKT	3,600 per each Rotary Files (25mm) (Three File System m- pro China	108,000	3,750 per each Rotary Files (25mm) (Three File System m- pro China	112,500	Not Quoted		M/s Technology Links Karachi is Qualified for purchase order being 1st lowest	
41	Rubber Base C Silicon	6 PKT	16,800 per each Rubber Base C Silicon Italy	100,800	15,400 per each Rubber Base C Silicon Italy	92,400	Not Quoted		M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest	

Dur Muhammad Mirjat

Incharge, Purchase & Store Section, LUMHS, Jamshoro (Secretary)

Director Finance/Neminee LUMHS, Jamshoro (Member) Abdul Raheem Shaikh

Director, IT (Services) LUMHS, Jamshøro (Member)

Prof. Feroz Ali Kalhoro Dean Faculty of Dentistry

LUMHS, Jamshoro (Co. Opt. Member)

Tariq Ahmed Shaikh

Deputy Director, Biomedical Engineering, Department, DUHS Karachi (Ext. Member)

Haroon Ahmed Kalhoro

Bursar,

Sr. No.	Description of required Items		M/s Technology Links	M/s Mega Tronic Traders Hyderabad		M/s Fabnos Traders PVT LTD Karachi		Remarks	
			Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	
42	Surgical Gloves (Lates Examination Gloves) small size	60 PKT	1,960 per each Surgical Gloves (Lates Examination Gloves) small size Malaysia	117,600	1,540 per each Surgical Gloves (Lates Examination Gloves) small size Malaysia	92,400	Not Quoted		M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
43	Ortho SS wire (0.12,0.14,0.16,0.18,16/22,18/25, 19/25)) Upper & Lower	30 PCS	1,960 per each Ortho SS wire (0.12,0.14,0.16,0.18,16/ 22,18/25, 19/25)) Upper & Lower USA	58,800	130 per each Ortho SS wire (0.12,0.14,0.16,0. 18,16/22,18/25, 19/25)) Upper & Lower pack of 1x1 USA	3,900	Not Quoted		M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
44	Root Canal Sealer Calcium Hydroxide paste (Australia, Italy, Brazil)	15 PKT	4,800 per each Root Canal Sealer Calcium Hydroxide paste Brazil	72,000	4,000 per each Root Canal 1x2 Sealer Calcium Hydroxide paste China	60,000	2,600 per each Root Canal Sealer 2.5g syringe Calcium Hydroxide paste Brazil	39,000	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
45	Normal Saline 1000ml	30 Bottle	560 per each Normal Saline 1000ml local	16,800	400 per each Normal Saline 1000ml local	12,000	Not Quoted		M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest

Dur Muhammad Mirjat

Incharge, Purchase & Store Section, LUMHS, Jamshoro (secretary)

Director Finance/Nominee LUMHS, Jamshoro (Member)

Abdul Raheen Shaikh

Director, IT (Services)

LUMHS, Jamshoro (Member)

Dean Faculty of Dentistry LUMHS, Jamshoro (Co. Opt. Member) Tariq Ahmed Shaikh

Deputy Director, Biomedical Engineering, Department, DUHS Karachi (Ext. Member)

(acid

Haroon Ahmed Kalhoro

Bursar,

Sr. No.	Description of required Items		M/s Technology Links	Karachi "	M/s Mega Tronic Hyderabad	Traders	M/s Fabnos T PVT LTD K		Remarks
			Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	
46	Ortho SS wire 0.20,17/25 upper & Lower (USA)	50 P@S/ =each	2,000 per each Ortho SS wire 0.20,17/25 upper & Lower (USA)	100,000	130 per each Ortho SS wire 0.20,17/25 upper & Lower pack of 1x1 (USA)	6,500	Not Quoted		M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
47	OT Gown	100 PCS	240 per each OT Gown china	24,000	280 per each OT Gown china	28,000	150 per each OT Gown china	15,000	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
48	Molar Band (USA)	5 Box	Rejected		Rejected		Not Quoted		Not Qualified Any Firm
49	Bracket set (USA)	28 PKT	Rejected		4,200 per ach Bracket set USA	117,600	Rejected		M/s Mega Tronic Traders has Qualified for purchase order being best evaluated
50	Ortho NITI wire (0.12,0.14,0.16,0.18,0.20,16/2 2, 17/25, 18/25, 19/25, upper & Lower both (USA)	100 PCS/e ach	2,000 per each Ortho NITI wire (0.12,0.14,0.16,0.18,0.20,1 6/22, 17/25, 18/25, 19/25, upper & Lower both (USA)	200,000	130 per each Ortho NITI wire (0.12,0.14,0.16,0.18,0. 20,16/22, 17/25, 18/25, 19/25, upper & Lower both pack of 1x1 (USA)	13,000	Not Quoted		M/s Mega Tronic Traders Hyderabad is Qualified for purchase order being 1st lowest
51	EDTA Cream for root Canal Cleaning	10 PKT	3,600 per each EDTA Cream for root Canal Cleaning Brazil	36,000	5,000 per each EDTA Cream for root Canal Cleaning Korea	50,000	2,900 per each EDTA Cream for root Canal Cleaning 2x3gm Brazil	29,000	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
52	Flowable Composite	20 PKT	2,400 per each Flowable Composite Brazil	48,000	3,500 per each Flowable Composite Turkey	70,000	1,850 per each Flowable Composite Brazil	37,000	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest

The Rates of Single firm Quoted Items Central Purchase Committee have been Verified Market and enclosed the Market Survey Report /Quotations under the Provision of SPPRA Rule-48. Central

Purchase Committee

Dur Muhammad Mirjat

Incharge, Purchase & Store Section, LUMHS, Jamshoro (secretary)

Director Finance/Nominee LUMHS, Jamshoro (Member) Abdul Raheem Shaikh

Director, IT (Services) LUMHS, Jamshoro (Member)

Prof. Feroz Ali Kalhoro
Dean Faculty of Dentistry

LUMHS, Jamshoro (Co. Opt. Member)

Tariq Ahmed Shaikh

Deputy Director, Biomedical Engineering, Department, DUHS Karachi (Ext. Member)

Haroon Ahmed Kalhoro

Bursar,

Sr. No.	Description of required Items		M/s Technology Lin	iks Karachi	"M/s Mega Tron Hyderabad	ic Traders	M/s Fabnos Tr PVT LTD Kar		Remarks
			Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	Rate Rs.	Amount Rs.	
53	Ortho Bonding Kit (02)	4 PKT	9,600 per each -Ortho Bonding Kit (02) Brazil	38,400	9,000 per each Ortho Bonding Kit (02) VITA	36,000	7,500 per each Ortho Bonding Kit (02) Brazil	30,000	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
54	Coxile wire(02)	3 PKT	Coxile wire(02) USA		Coxile wire(02) 1x1 USA		Not Quoted		This Item has been Cancelled
55	Steel wire (02)	3 PKT	Steel wire (02) Local		Steel wire (02) Local	and the second	Not Quoted		This Item has been Cancelled
56	Power Chain (02)	3 PKT	1,300 per each Power Chain (02) China	3,900	1,400 per each Power Chain (02) China	4,200	1,300 per each Power Chain (02) China	3,900	M/s Technology Links Karachi is Qualified for purchase order being 1st lowest
57	Lace Back wire (02)	02 PKT	Lace Back wire (02) USA		Lace Back wire (0	2) China	Not Quoted		This Item has been Cancelled
58	Pouch roll (China, Japan)	24 PKT	Not Quoted		3,800 per each Pouch roll 1x200 meter China,	91,200	2,200 per each Pouch roll 50mm+200m China,	52,800	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
59	Ethyle Chloride	10 Bottle /spray	3,640 per each Ethyle Chloride Local	36,400	Not quoted		Not quoted		M/S Technology Links Karachi has single firm has quoted & Qualified for purchase order being best
60	Metapax (Korea, Brazil, Japan)	10 PKT	Not Quoted		5,500 per each Metapax Korea,	55,000	2,600 per each Metapax Brazil,	26,000	M/s Fabnos Traders PVT LTD Karachi is Qualified for purchase order being 1st lowest
Total as	mount with all taxes (Each firm			496,300		819,800		683,560	

The Rates of Single firm Quoted Items Central Purchase Committee have been Verified Market and enclosed the Market Survey Report /Quotations under the Provision of SPPRA Rule-48. Central

Purchase Committee

Dur Muhammad Mirjat

Incharge, Purchase & Store Section, LUMHS, Jamshoro (Secretary)

Director Finance/Nominee LUMHS, Jamshoro (Member)

Abdul Raheem Shaikh

Director, IT (Services) LUMHS, Jamshoro (Member)

Prof. Feroz Ali Kalhoro. Dean Faculty of Dentistry LUMHS, Jamshoro (Co. Opt. Member)

Yaard Tariq Ahmed Shaikh

Deputy Director, Biomedical Engineering, Department, DUHS Karachi (Ext. Member)

Haroon Ahmed Kalhoro

Bursar,